Applications of Rational Functions
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1) A boat can go 10 miles upstream in 30 minutes. The return trip downstream takes only 20 minutes. What is the
speed of the boat in still water and the speed of the current (in mph)?
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2) Garth can row 5 miles per hour in still water. It takes him as long to row 4 miles upstream as it does 16 miles
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downstream. How fast is the current.
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3. Myra takes 2 hours to plant 500 flower bulbs. Francis takes 3 hours to plant 450 flower bulbs. Working together, how
long should it take them to plant 1500 bulbs? (= !_
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